
Z5303 Kit Contains:

37-375453-000 Extender Bracket, Fog Light Switch Clearance,
Left 1

37-375450-000 Extender Bracket, Right 1

51-515820-000 Screw, M10 2

49-491010-000 Washer Split 2

Item Description Qty.

Z5300 Kit Contains:

37-375450-000 Extender Bracket 2

51-515820-000 Screw, M10 2

49-491010-000 Washer Split 2

Z5301 Kit Contains:

37-375450-000 Extender Bracket, Left 1

37-375451-000 Extender Bracket with Hole, Right 1

51-515820-000 Screw, M10 2

49-491010-000 Washer Split 2

Item Description Qty.

Z5302 Kit Contains:

37-375452-000 Extender Bracket 2

51-515716-000 Screw, M8 2

49-491300-000 Washer Split 2

Thank you for purchasing a ZTechnik product. Please read these instructions carefully and thoroughly before
beginning work. Dealers if installing this windshield for a customer please give them this manual. It contains
information needed to properly maintain and use this product.

CONTENTS OF KITCONTENTS OF KIT

ZTechnik PO Box 158 Maywood, IL 60153-0158 USA
708-343-0400 / Fax: 708-343-0625 / www.Z Technik.com / e mail: info@ZTechnik.com

©2009 National Cycle, Inc. Page 1 of 2 10-117822-000 05/09 Rev B 01/10

TOOL REQUIRED:
6mm Hex Key
2, 17mm Combination or Open End Wrenches

Special notes and cautionary measures which can
prevent damage to the accessory or motorcycle.

Tips for facilitation of operation, control and
adjustment, as well as maintenance work.

NNoottee::  AAtttteennttiioonn::

Z5301

Z5300

Left Right

Left Right

Mirror Extender Kits 
Z5300, Z5301, Z5302 and Z5303 

Left Right

Z5302

Left Right

Z5303



PREPARATION
All Stock hardware will be re-used. 
Z5302 Mirror Extender reference is Figure #4.
Z5303 Mirror Extender Left side is larger to clear 
fog light switch on GS12A

1. Remove the stock mirrors. 

INSTALLATION

1. Use the Screw and Split Washer to install the Left Extender
Bracket. Tighten Firmly (6mm Hex Key) Figure 1 or Figure
4 when installing Z5302

2. Install the stock mirror mount hardware to the hole in the
Extender Bracket and tighten firmly. (17mm Wrench) Figure 2

3. Install mirror.  (17mm and 11/16” Wrench) Figure 3

4. Repeat procedure on Right side of motorcycle.

Thank you purchaseing a ZTechnik product. 

Visit www.Ztechnik.com or www.nationalcycle.com for other
fine products for your BMW motorcycle. 

Figure 1 

Figure 3 

Figure 4 

Figure 2 

Z5302

ZTechnik PO Box 158 Maywood, IL  60153-0158  USA
708-343-0400  /  Fax: 708-343-0625   /  www.Z Technik.com / e mail: info@ZTechnik.com 

©2009 National Cycle, Inc.    Page 2 of  2                            10-117822-000  05/09  Rev B 01/10


